[ Efficiency vs vertpos |
- 0.2

TP, SRS NS SN S
4 C : : :
L e preseeeees e
O -
$0.14f
[ o
50.12_ ! : :
(08| SRR LRI AERRICRRLREE R R
0.08F---------- foaciceianes L :
0.06]
0.04
0.02
1Q

1.1

Ratio

1

IIJ_.i_IIIIIIIIIII!IIIIIIIlI
b e

)

¥

4

!

.

;

:

;

- :
[ — 4
—— .

—

;

:

b e

) i

b i

T

+

0.9

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_mkFit_TTbhase
Efficienq —— poM_mkFits_TT_retrainOldFiles125_v2_prelimWP_epoch4

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

8 I R I R L Y I - Ak - -H Y I

230 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

A

Ratio
N

80 =15 =10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


